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Is there enough mformatlon to prove%atqh'p;‘l ggggb‘ g
parallel? If so, state the postulate or theorem you would use.
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In Exerclses 10 12, choose the word that best completes the statement.
10. If two lines are cut by a transversal so the alternate interior angles are (congruent
v—
supplementary, complementary) then the hnes are parallel.

11. .If two lines are cut by a transversal so- the consecutlve interior angles are (congruent,
supplementary, complementary), then the lines are parallel.
W TR

. 12. Iftwo lines are cut by a transversal so the correspondmg angles are (congment

===t Skl

supplementary, complementary), then the hnes are parallel.

'13. Gardens ‘A garden has five rows of vegetables. Each
row is parallel to the row 1mmed1ately next to it.
Explain why the first row is parallel to the 1ast TOW.
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In Exercises 14-18, complete the two-column proof.
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In Exercises 19-23, complete the two-column proof.
GIVEN: n| m, £1 = £2 '

PROVE: p | 7 Qm,g \M hlj - \"\\
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24. Railroad Tracks Two sets of railroad tracks
intersect as shown. How do you know that line -
"n is parallel to line m?.

19. _(aven
2. _ K\,

21. Griven

22. “Tramsihve
23 Chl
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